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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) udemeff geyem 379 J9-3 T ATk JTfaria: fog |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) aeft g rfemd § |

All the questions are compulsory.

(3) A T HT I & TS IT-Yf&aeht H € ford |

Write the answer to each question in the given answer-book only.

@) T vt 8§ sreafe @ve ), 37 e % S v W @ R |

For questions having more than one part, the answers to those parts are to
be written together in continuity.
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(5) TH-9A & T 9 TS TR § fohell wepr 61 Ffe/ 3T/ fatramymd 81
Temet \ToT 6 o I & TRl A |
If there is any error / difference / contradiction in Hindi & English

versions of the question paper, the question of Hindi version should be
treated valid.

6) (i) I8 IF-93 ¢ @uei A fawem & — 31 3R |
(i) @ ‘3 Toft Bl & fow rfE 2 |
(iii) @Ug & % & W &, Ycdeh W & Grq 9w 8 | wdiemeff o6y foreft wes v
% Teft TTd T Sl FA BLATR |
(1) This question paper contains two Sections — A and B.

(11) Section ‘A’ is compulsory for all candidates.

(i11) Section ‘B’ has two portions. Every portion has a set of seven
questions. Candidate can attempt only a set of seven questions of
any one portion.
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<l 1-8 1

9-14

15-21

22-23

T 24-25

26-27

28-29

30

—_— N B

N B~

24-25

26-27

28-29
30

AN B NN =

SS-30-Accountancy (Supp.)



Section Q. Nos.
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(8) I TEAT 22 (WUS-3H) AT 30 (WUS-§) H TNk faehed B |
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Marks per question
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There are internal choices in Q. No. 22 (Section-A) and Q. No. 30

(Section-B).
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g - A
SECTION - A

el i@ o his ¢l a fafgu |

State any two contents of Partnership Deed.

WIS o YISl HId U, T 30T o ToTC SIS | ghg o forw oo wfafe grft ¢

What will be the entry for increasing the provision for bad-debt at the time of
admission of a partner ?

349 @rd o1 T ferflgn, fmes staria dEier & a9 Sd G5 -1 @Td 1 shiee 9
FEATAN fopa ST 2 |

Write down the name of account in which credit balance of profit and loss a/c
transfer at the time of admission of a partner.

3G ©H1d 1 W fAfgu, S ATeier o AT T80 Hid 99, I <F TRT § AT
TR WITH B 2 |

Write down the name of goodwill, which is arise from amount to paid him in
excess of his share at the time of retirement of a partner.

% o guTee 1 feurfa o, form grfiea =1 aduyy e fan sar g 2

In the case of dissolution, which liabilities are to be paid first ?

3191 wersgfer siferrm <6t Tfyr & sworest w g1 smferRaa e i wfafs @ anft 7

What will be the entry write-off the amount of loss on issue of debenture out
of securities premium ?

STS—EL o JTTUT T SROTAT ol SFfiehd hITST |

Classify the debentures, on the basis of interest rate.

SS-30-Accountancy (Supp.)



5

8. wyad @red <ht 34 ffct w1 A forRaw, Raes starta wwomel weysr wred @t Qe

A2 | 1

Write down the name of method in which memorandum joint venture account

will be opened.

9. &, TAIMTWTHEHH3:2: | § AT~ Sied gUHARIGR & | 31 BT, 2019 =t
“<h” TH § TN TEU HLT & | &I fafer i geaeni § ey -1 @ & Sfee 3w
72,000 & | “e” o HAAHI T hid THA ATH BT bl IUARI A bl Afa(®
& | 2

K, L and M are partners in a firm sharing Profit and Losses in 3 : 2 : 1. “K”
retires from firm on 315 March, 2019. Debit balance of Profit and Loss
account I 72,000 on the date. Pass the journal entries to write-off Profit and

Loss Account.

10. gfiar wd foRTor 4 shmst: 3 3,20,000 9 T 4,80,000 ¥ T Sh WTAT GicTeht Hed
Trgd Imy T | 3= fmir & few % 5,00,000 § I form | 3T Yo
% 6,50,000 ST g | Yo TT8d @Al S5, ATe e Teieh Tl STl & | 2

Sunita and Kiran started a joint venture and opened joint bank account with
T 3,20,000 and X 4,80,000 respectively. They take a contract ¥ 5,00,000 for
construction. Contract price I 6,50,000 were received. Prepare joint venture

account, if separate books are kept.

11. G B 97 3TETH BT § € 37t aarsy | 2

Give two differences between normal loss and abnormal loss.
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13.

14.

15.
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5000 TeretTamg 911 T 100 el foretiom <ht e & UNor 9T 917 | 250 foretiom A1e <hi
B B8 | It 3 4250 Fretiom |rer T 120 Wi fopetium st et o s | forn forep
HTe hI U <RI, fe

(i) 250 foretium ATeT sl AT BT HHT ST |

(i) 250 feretamy ATet = STETHT BT THT ST |

Goods 5000 kg. @ X 100 per kg. were sent on consignment. 250 kg. goods
were damaged and consignee sold 4250 kg @ % 120 per kg. Calculate the
value of unsold stock, if :

(1) 250 kg. goods are treated as normal loss.
(11) 250 kg. goods are treated as abnormal loss.

vt fopegi g1 Al o Am faRaw, S wifed wa Yram @rd & o fe@s I 2, w1
-2 @Td | 78} few@ms St € |

Write down the name of any two items which are shown in Receipt and
Payment account but not shown in Income and Expenditure account.

=1 =t wm ifTe

() @ | e

(i) STty B
Explain the following :
(1) Legacies

(1)) Endowment fund

g, e NI TH B H 5 : 3 : 2 H A9-FI6 St g8 arEfer g | s7eht fer oeft
U ¥ 1,00,000; T 1,30,000 @7 T 1,20,000 oft | 31 6, 2019 1 I&ih &g
T h qeET Al B 3R IS W10 Ffowrd anftes @ § S T 4 W
oIS Ffafs dfer qer faversor arfetst ST |

Neha, Neeru and Raj are partners in sharing Profit and Losses in the ratio of
5 : 3 : 2. Their fixed capital were ¥ 1,00,000; ¥ 1,30,000 and X 1,20,000
respectively. On 31% March, 2019 after closing the book, it was found that

interest on capital @ 10 percent per annum was omitted. Pass adjustment entry
and prepare analytical table.
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16. T, 915 N AS TH BH H 2 : | : 3 H ATY-FIM died gC AR & | ®F 3 aeff
ATERl & Sfiad T T T 72,000 1 Gerd Stra smy aifereh o Tt off | 1 313,
2019 ! TR SHia ST Giferet T THYer qoI 3 15,000 FeATfeha foham mm | fr=
Teufet o 1 319w, 2019 1 3TEAYIS T T PAT ST 4
() Ife e B T T TSI AT R |
(i) I SEHTIAN S |

X, y and z are partners in a firm sharing Profit and Losses in ratio of 2 : 1 : 3.

The firm has taken a joint life insurance policy I 72,000 on the lives of all
partners. The surrender value of joint life insurance policy on 1" April, 2019 is
estimated at ¥ 15,000. Pass journal entries on 1% April, 2019 in the following
conditions :

(1) If z retired from the firm.

(11) Ifz1s expired.

17. H o AT W Ja gfafat dfw
(i) T ETSIER IIS 1 T 20,000 % SR fow |
(i) e == T 10,000 FHM |
(iii) T HEER O™ R T 50,000 % THERI 1 20 Ffderd §g W Yrae foha
T |
(iv) ¥ 50,000 o THER T MU, T&dehi | 7 fe@mit aafd T 45,000 A FH T | 4

Give journal entries on the dissolution of a firm :
(i) Debtor ¥ 20,000 taken by the partner Yashraj.
(i1) Realisation expenses were % 10,000 paid.

(111) Creditor of ¥ 50,000 were paid at discount at 20 percent by the partner
Bhavesh.

(iv) Creditor of ¥ 50,000 is settled by Assets I 45,000 is not shown in the books.
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19.

20.

8

WA ot 3Tffem, 2013 3t S1gEEh 111 9T [ <6 3iata SmdT Ud giieied W |
“IR -] gTfirea” Sfieh o T Iuefient o A for@d gu anfefes fagt s 1a |
Prepare Balance Sheet, write down the name of the sub-head under the head

“Non-current-Liabilities” in the Equity and Liabilities side of the Balance
Sheet under Schedule III Part I of the Company Act, 2013.

fieTareT <ht wTfereht = TS shi 3AfUaT i 100 8 HER % T 30,000 Ffd HRIR
ST Joi W (AT Jed T 25,000) fdh T SW0T W S | HTfeohl o TME-HTeT
% 20,000 M | AT o MM A 20 T HrRpX I & T | AT I 80 Te
HI T 30,000 d T T G F &=, AT T 1,000 T e FHHvH a8t Fm |
wTfereht = &A1 SHro & T A ® T 4,00,000 ST TRT T | ARG oI T
ST @I ST |

Bhavika of Bhilwara consigned 100 sets of computer on invoice price of
T 30,000 (cost ¥ 25,000) each to Arpita of Ajmer. Bhavika incurred carriage
% 20,000. 20 sets were stolen from the Godown of Arpita. Arpita sold 80 sets of

computers @ I 30,000 per set of computer and charged commission I 1,000
per computer on sales. Bhavika received X 4,00,000 from insurance company

in full settlement of the claim. Prepare Consignment Account at cost price.

T ATeq # e gt 7 ot wfafeat G, afe gems g @ S =
(i) 9 YR HTeA =1 1T & |

(i) 9 TgRT T8 o I AT T YA Tt ST & |

(i) 1 Ueh TE-HTeH! g AY &= HTA o T |

(iv) 9 Fg-|TaH! Sl ISt T TS THHehd fepdl T & |

In following cases, give journal entries in joint-venture, if separate set of
books kept :

(1)  When goods are sold on credit.

(1) When expenses paid by joint-venture.

(i11)) When a co-venture takes remaining goods of joint-venture.

(iv) When interest on capital allowed to co-venture.
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21. T 13Tl & AYHEH 9 1 - @Al 941

IRk The 2T T 10,000; FeT I fohal (% 600 T1d ¥ hT; 3 12,400 =Te] 9
% 1,000 T 99 1) ; A T T 4,000 (T 1,000 - T M B); BefTer
3 TeRa T 30,000 (Fearsm® & 10 Ffawra); 7efiF s W T T 2,000; =] ¥ 1
ST =el T 1,000; FTE] 99 T FhET o T 800; ¢ T4 T 400; ifad Tehg AW
% 15,000. 4
Prepare income and expenditure from the following informations of
Madhusudan Club :

Opening cash balance ¥ 10,000; Subscription received were (for last year
% 600; for current year I 12,400 and % 1,000 for next year); Salary paid ¥ 4,000
(X 1,000 including for last year); Furniture purchased I 30,000 (depreciation
rate 10%); Loss on sale of Machine ¥ 2,000; Outstanding subscription for

current year I 1,000; Outstanding salary for current year ¥ 800; Payable
interest X 400; Closing cash balance ¥ 15,000.

22. UHH AR AT 2 : 1 § oY Sicd gU ATSER 8, 31 WTE, 2019 1 $eh1 T Fagn
IEt=R Atk A

IR z ot 3
EEARIRETEI 2,000 | & I 34,400
T IS 18,000 | ER 32,000
St (-) IS 2,400 29,600

T 1,20,000 hY 80,000
€ 1,00,000 | 2,20,000 | e TS HIH 96,000
2,40,000 2,40,000

I ! oI H 1/4 588 o e =1 vt o a1 yaw < 8, 9 319 feem wwe |

HTHWT:

(i) S 370 gt o fotw Tt feafireg = 3 1,00,000 79T AT 2 |

(i) H <1 T T Td9H JoF T 32,000 7, 98 3194 fee 1 @il Ushs &
AR |

(iil) & B & TIC FARSH HI 10 Ifq9q T TEIST TAUT FHRT A bl 376
FTETIHAT TE 8 |

(iv) TATE 1 Gedieh T 80,000 TR TohaT TIT 2 The T Yoo T 4,000 T FgTs |

TR ST a2 ISt @Td 4783 | 6
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x and y are partner sharing profit in the ratio 2 : 1. Their Balance Sheet as on
315 March, 2019 is as under :

Liabilities 4 Assets 4
Outstanding Rent 2,000 | Bank Balance 34,400
Reserve Fund 18,000 | Debtor 32,000
Capital : (-) PBD _2.400 29,600

X 1,20,000 Stock 80,000

y 1,00,000 2,20,000 | Plant & Machinery 96,000

2,40,000 2,40,000

They admitted z in the firm 1/4 share which will be received from x with
following terms :

(i)  z brings share of Raj Ltd. worth ¥ 1,00,000 as his capital.

(1)) The present value of goodwill is ¥ 32,000. z not bring his share of
goodwill in cash.

(i11) Provision for bad-debt be increased upto 10% and outstanding salary is
not required now.

(iv) Plant valued at ¥ 80,000 and Stock will be increased by I 4,000.
Prepare Revaluation account and Partners’ Capital accounts.
OR/3AYT

T, & SR E 2 :2: 1 H AW Sled 5T TRICK &, $eh! FRR ISl AT % 60,000;
% 40,000 AT T 25,000 ft | 31w @d gfad 31 feamar 1 9@ 9 € | Argier
ﬁﬁ@%?ﬂg&lﬂ:
(i) 3Rt feor dsft w10 wferera anffes ex & =t fem Srim |
(i) 37T o § e, fuset i ot o ol o 3T o STTER W @ |
(i) T T 1,000; st &1 T 800 T &l %1 T 600 TiaHTE S T & |
(iv) e o T feior fse = aut & sfiga ol & S a9t & T % SUeR
Tema SRR |
(v) Tuser & at o oy shEst: T 40,000; 3 45,000 7T 50,000 9 |
1 S8, 2019 =1 T 1 Jog & TRt a1 36 fafr ol $8ek =Te] WId
Sfee 91w T 7,420 o1 | “T” % SAUTRI %1 @rar 99T |
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A, B and C are partners sharing profit in the ratio 2 : 2 : 1. Their fixed capital
were % 60,000; ¥ 40,000 and ¥ 25,000 respectively. Final account are prepared
on 31% December each year. According to partnership deed :

(1) Interest on fixed capital would be given @ 10% per annum.

(1) Share in profits which will be based on average profit of last three year’s
profit.

(iii) Salary per month would be given to A ¥ 1,000; to B ¥ 800 and to C
T 600.

(iv) Determine the share of goodwill would be based on two years purchase
of the average profits of last three years.

(v) The profits of last three year I 40,000; ¥ 45,000 and ¥ 50,000
respectively.

“A” died on 1% July, 2019, on that day A’s current account has a
debit balance T 7,420.

Make A’s executor a/c.

23. (a) Tomie foafiaes 3 fa fafies & T 3,96,000 w1 wi=r @l | et e
10 Siferera =KoraEt € 100 S 609 & Fiee Jod § 1 8 | Beftel ol
Td T < A i forie fot. i qedent § e gfafsat i, 59 —
(i) =HUT9ET sl T9 - 9 friee feham gt |
(i) RO} w1 10 Sfaerd 52 W ffea fran mn ey |
(iii) =ROrg=T =1 10 Sfasrd Siftem w fefra fea mn e |

(b) U fafiree it geaent B f gan o sie wfafdat s

Tehst fed. T T 100 9T 12%, 1000 R0, fSTehT 5% &% W ST feram =
T, IThT IMEA 10% Hiftray w fman ST & | 6
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25.

26.

27.

12

(a) Vinod Ltd. purchased a furniture worth ¥ 3,96,000 from Ravi Ltd. The
payment was made by issue of 10% debentures of ¥ 100 each. Pass
journal entries for purchase of furniture and issue of debentures when :

(1) Debentures are issued at par.
(1) Debentures are issued at 10% discount.

(ii1)) Debentures are issued at 10% premium.

(b) Pass journal entries in the books of Pankaj Ltd. in following cases :

Pankaj Ltd. issued 1,000; 12% debenture of I 100 each at 5% discount.
These debentures are redeemable at 10% premium.

Qg — ¢

SECTION - B

39 foreitar forgeTyor Ten-feh o1 AT SIaTg, S 37d: BH o hl w1 i & |

Write down the name of Financial Analysis Technique which is checked intra-
firm comparison.

o] 1A T TG ST AR |

Write down the ideal-ratio of current ratio.

Teh AT <h Ushl T8 37T T BT, Ffe SATIST WA ST 65% &Y ?

What will be the retaining earning of a company, if dividend payout ratio is
65% ?

IENICACESEUE R EI IR Titc el

Write down the name of types of Financial Analysis.

SS-30-Accountancy (Supp.)



13

28. T=fciRad Y13 @ FHHRR ATH-ETH foator-u s -

29.

e a¥ 2018 ¥ 2019
IEERRE LY 2,00,000 3,00,000
o T 0T 1 AT | ekt 6T 60% fersht =1 70%
I T Tehel 14 T 50% Tehel 1Y T 40%
IR T TS A9 1 50% | HH IS H T 50%

Prepare common size statement of Profit and Loss from the following

information:

Items Year 2018 Year 2019
Sales (Revenue) 2,00,000 3,00,000
Cost of sales 60% of sales 70% of sales
Indirect expenses 50% of Gross profit 40% of Gross profit
Income-tax 50% of PBT 50% of PBT
e W g fewaoft faRaw
(i) <@ § Afdehar
(i) femmad aeT

Write short note on :

(1) Ethics in accounting

(1)) Window dressing

SS-30-Accountancy (Supp.)
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30. HgTed fafieg i i geamd &

3
80,000; 9% JATTEhR 3797 ¥ 10 Wi = 8,00,000
% 10 91t 50,000 FHAT 313 = 5,00,000
10% =RoT9= = 3,00,000
T Td AT = 2,00,000
ESGIEE = 2,00,000

ERRELE
(i) U ¥ Y q1 1S % 9¥ETd (PBT) € @Y ¥ 5,00,000 & | T ht G 50%
2

(i) ToaT T W AT H S 10% 2 |
e 1 o i

(i) ufa 37w 3= (EPS)

(i) Sfd 31 @S (DPS)

(iii) TTHI YA AT

(iv) T STIITd

(v) RUT-THAT AT

(vi) ST 3T
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Following are the information of Mahadev Ltd :

4
80,000; 9% Preference share of ¥ 10 each = 8,00,000
50,000; Equity share of ¥ 10 each = 5,00,000
10% Debenture = 3,00,000
Reserve & Surplus = 2,00,000
Current Liabilities = 2,00,000

Additional information :
(1) Net profit before tax after interest (PBT) ¥ 5,00,000. Tax Rate is 50%.
(1)) Dividend on equity share is 10%.
Calculate the following :
(1) Earning Per Share (EPS)
(i1) Dividend Per Share (DPS)
(i11) Dividend pay-out ratio.
(iv) Proprietory ratio
(v) Debt equity ratio
(vi) Interest coverage ratio.
OR/3AYAT

(a) Teh HETHI T AT UG 3 : 1 3R T 3 1.5 : 1 8 | Afe Hrisher &
% 2,00,000 &, q =Te] TeafEy, =ne] gl 3R whe 1 e A1d i, fh
I § hIg Jded 5 T & |

(b) T =3I | Torshd T Fehel oW <hl T AT ShIFT
3d @Ry T 40,000; THY Ed AT 6 AT, Ik god ST & 25%
3T |

(a) Current ratio is 3 : 1 and Quick ratio is 1.5 : 1 of a company. If the
working capital is I 2,00,000, calculate the value of Current Assets,
Current Liabilities and Stock that no prepaid expenses in a company.

(b) Calculate the amount of Sales and Gross profit from the following
information :

Average Stock I 40,000; Inventory Turnover ratio is 6 times; Selling
price is 25% excess on cost.
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qug - §
SECTION - B

24. 0T <! fred O T SRIER e i 9 ferfeam |

Write down the name of function used for calculation of installment of loan.

25. We-AMewng ?
What is Spread-Sheet ?

26. 33eqe (fafa) == & g =m 3grewwr ferfm |

Write down any four examples of output devices.

27. .H).TH.TH. & I3 ¢ ®E fafige |

Write down any two functions of DBMS.

28. EREH A4sHe ey & g I/ gk (q) WY HIfS |

Explain any four components of Data Base Management System.

29. 221 TshH sk o T TT HIfvT |

Explain the levels of data processing cycle.

30. S1.S1.TA.UE. 1], U1 39 hiS Uid ATH T8 I |
YT
HIRIEIehd TTETeh SUTTE! <l TR hIFTT qer $eh IS Tid @9 T HIfT |

What is DBMS and explain any five advantages of it ?
OR
Define computerized accounting system and explain any five advantages of it.
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